Detail A
scale 1:10
AN
, _ bx M8x20
\ P
{j \ y 7 160x160x5
S8 V
80 ¢
f" 8 f
fH=r===4=
Detail C
scale 1:10 [/1160x 1605
w
60 |2 J
‘ ﬁ,_ it — = P :JJ')}
f " ~|_F100x5
lh‘\
‘ | M10x90 anchor bolt
o
[¥g)
\Di \\
c‘,: | Concrete linefoundation
2
i 300
1
1
190 |10
|

Line foundation is provided by customer
The height and outside line of the foundation is
important to us.

g teeknisvio Uppsveita |

Detail E \
i
scale 1:15 |
— e ——— ———— == S ==
~ - e S
= — | | ~ | -
e > i | g -
~ > ~ | -
= C5il I S5 —~
S = [ ~ [ ~
. F i ~ =
> g P = | T ~ . c
[ = = = v o e T o e S B e e
Detail B
scale 1:10 - e I ’ :’:”AM'W I
[11160x60x5 [71160x60x5
/ ’
Lx M8x20 ¥ \
ﬂ@ﬁ_ B 11160x60x5
/'/tf;ﬁ == = Cah-ox Ay
e e ’ \ ~~’f =y
e B \ [150x50x2
/
2
\_ [25x25x2
1 3x M16x230
[] 1
.31 :L e *}5 \ Strip 50x5
T \___[160x30x3
20 160 20 ‘ S
Strip SOxé
11160x160x5 /1160x160%5
/ \
Detail D
scale 1:10  [1160x160x5
/
(0 ©),

\ \l

/\
\/ M16 turnbuckle M16 turnbuckle \

—_— o N
S = | =7 M12 anchor = | s s
P

3 Q ;\ 0 k=

; N \ 74
5 X2 \
®1 { L v //*7-_1%‘5 ) \ ~ M16 turnbuckle | 50502 M16 turnbuckle /
~ t '\,
| Q

T
)
']

B

Strip 50x5

J
500 - 650
| /
)

Strip 50x5

11120x50x3

1000
-1 | U
[l
L] - -
‘;\y
\

i
| :
600 | ; ) Spayng 20076-001 18.5.2020
l === G === ,b,/‘/k" 3 "“‘"“‘/Z‘AV‘*VERKls
The concrete poles and pads are provided by 2 0 20 1 0 £ 6
customer
The height and measures of the poles are ' Y ™~
important to us. Client: A : h
Gufuhlid R R -
Iceland _ % =
Project: - - -
Greenhouse & packing house 2 = =
Date: Index: Changed by:
- AN
. - @ Drawingname: \
Drawing subject: N m -
i o .013.001.2 Lay out
Lay out Details S |
o Sheetnumber: 3 )
2N N/ _ A
—~ =~ Dool International B.V. ELAYV;—BL
) Aartsdijkweg 55, 2676LE MAASDIJK i
|~ tel: 0031 174 513 094 Date:
o I . i . 01-05-2020
Dool www.doolinternational.com - sales@doolinternational.com
International Scale:
| E— LIFTING - RENOVATION - BUILDING - DELIVERY DANSEIGE r

] L I FOR ILLUSTRATION PURPOSES ONLY - A DES FINS D'ILLUSTRATION SEULEMENT - ALLEEN TER ILLUSTRATIE




